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6. WUg-3 H 70 awgfve wvv § 6 In

4 @ fF=T 35 wvat &1 39
g7 afrard 31 35 v @ Sfis
FT I 1 W T¥H 35 F7 7
gedgish g1 Fed% & fw 1 ot
fraia &1 &1 I T & fow
YTy FF T OMR ITH-U3% o
fe mo wgt faweg & et ) @
FeT 97 I FmE F1 feat W
WHW & W3S / aecr ugref /
&g / TGT AT FT OMR Iv-
gx® " TqT & 7Ar &, srer
et gRvme srar=r g

. @V - & H 20 7g INIT 99T
& 1 798F & fom 2 aF FrfRa &
frvd & fe=sT 10 a9 &7 3@v
T Afrard & | 7% Iake za
GUE ° 6 T IviT 9T 24 M
g, u~F & forw s e fuiRa &
fad @ et 3 wvat &1 357 37
g &

. [#4t 9B & g 39T FT 8.

5anT qoear afsre &

Section-A, there are
70 objective type questions, oui
of which any 35 questions are
to be answered. If more than
35 guestions are answered, thep
only first 35 will be evaluated,
Each question carries 1 mark.
For answering these darken the
circle with blue / black ball pen
against the correct option on OMR
Answer Sheet provided to you.
Do not use whitener / liquid /
blade / nail etc. on OMR
Answer Sheet, otherwise the
result will be treated invalid.

. In Section - B, there are 20 short

answer type gquestions, each
carrying 2 marks, out of which
any 10 gquestions are to be
answered. Apart from
there are 6 long

these,

answer
type questions, each carrying
S marks, out of which any
3 questions are to  be
answered.

Use of any electronic appliances is
strictly prohibited.
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WUg - 31 / SECTION - A

Eﬂ&ﬁ'—l‘@ U / Objective Type Questions

gvT 94T 1@ 70 % & uee gyT @ gy 9w fawew [y 2, ﬁamhi.
e @l &1 A9 gRT gy Wt fawew =t oMR ¥z av fafgaa &% 1 fe=il
35 9yl &T 3T &1 35x1 =35

Question Nos. 1 to 70 have four options, out of which only one is correct

You have to mark your selected option, -on the OMR-Sheet. Answer urny

35 questions. 35x1=235

1. zocmmﬁém%ﬁmﬁﬁ
A) - 10 S (B) + 10 SHEAK
(C) -5TAA (D)  +5 TR
The power of a convex lens of focal length 20 cm is
(A) - 10 dioptre - . (B) + 10 dioptre

(C) - 5 dioptre (D) + 5 dioptre

2. quﬁ%ﬁaqﬁﬁq@mﬁ%mﬁmm&ﬁmﬁ%

(A) HE Y T A B) o1 Q@A
(C) T |agH (D) SEHAIAYH

The total internal refraction of light is not possible when light is

refracted from

(A) glass into water (B) water into glass
(C) water into air | (D)  glass into air
[117]A 88-013 Page 3 of 32
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3. T RN W Y A O o algd @ fear seerdl €

(A) AT (B) ST

(€)  =vi-fagyor (D) ferere=

The .process of splitting of light into seven polours through prism ig
called

(A) Reflection (B)  Refraction
W Dispersion . (D)  Diffraction

4. Hﬁﬁ:'f % A &7 F wROT '
@) VERUEWEA (B W H S
(C)  WhI HT Wi (D) SISl =T arot-fagigur

Blue colour of sky is due to

(A) - Reflection of light (B) Refraction of light

Mea;tcrhg of light (D) Dispersion of light

5. % A2t oz v R waien sht @ wm w2

Ay faad= | (B)  #d0T
(C) wAfdE=y (D)  WRTS SRIA T
Which of the following phenﬁmena of light supports its quanfurn
nature ?
(A) Diffraction (B) Polarisation
(C) Interference ' : \9)/ Photoelectric et:fect
(117 ] A
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6. A ol wraet Mol awrs @ uA smaferd Fer STo A IR 3T @

forvrar g
(A) [T (B) YAIEISE Ud AHEY
(C) U wd raHwy (D)  HUIeHS q97 THET

If a hollow spherical conductor is charged with ﬁositive charge, the

potential inside it will be

A} Zero ' (B)  Positive and uniform
(C)  Positive and non-uniform (D)  Negative and uniform
7. @WW%W%@WWWM%WﬁWWW
(A) A - B ¥
(C)  Y-lcH (D) HUMHE _

The algebraic sum of electric current meeting at a point in open

electric circuit will be

r/ﬂ]( Zero ' (B) Infinity

(C) Positive (D) Negative
@ TRFeH § e STafvTT S @1 sTEEe T adl Send Wit Vvl al
(A) T«V (B) T«V?
1 1
€ Teg (D) T« ey

If Tis time period and V is maximum speed of a charged particle in
. . . ' ' 1 4
cyclotron, then’ /' t -

a) TV B) Tw«V?
[117 ] A 88-013 « Page 5 of 32
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9.

10.

11.

fordt a1 Ehgrfﬂqm-ﬁaﬂﬁﬁqﬁfannﬁmﬂq?ﬁgﬁaghm
—»
alil.llantvdlwmm

Lo I
-_€kE __ek
A Vg==EEc 0 B VaTTm

> ¢E - eE
C =-£5 | =£=
€ V=" D Vu=

- :
The drift velocity (V,; ) of free electron inside the conductor placed in
-

an electric field E is given as

- e - E

=g -_ &

Ay Vg=-— -t B Va= T,

> ¢E. > oF
@ Va=7"T O Va= T
U STERT SIS 1 Uiy g ¢
(a) 39 wlay @) = wfay
c 3 SRR (D) T ey
The resistance of an ideal ammeter is

(B) low resistance

(A) high resistance

(C) zero resistance (D) infinite resistance
mmwwm%mmmwm%
(A) A B @ fEua

(C) T & I Qi qH (D) AT AE 10T
The angle between magnetic meridian and geographical meridian is
called

(A) angle of dip

(B) declination

(C)  horizontal component of magnetic field

(D)  apparent angle of dip
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12. menﬁﬁuk%luﬁgﬁ@ammmaﬂﬁmﬂmﬁaﬁm

gfercy g
(A) 2R (B) 4R
(C)  8R . (D) 16R

The resistance of a wire is R. If the diameter of the wire is halved by

stretching it then the resistance of the wire will become

Mﬁ/zfe e

© 8R | (D) 16R
13, dufel % Tl daew S ol v dwfer % fe wEE T €
i g ) |
(&) &Y | B e
© faER (D) e

The quantity, which is same for each condenser for parallel grouping

of condensers is

(A) charge (B) energy
‘__(_Q}/ ﬁbtential difference (D) capacity
14. oM w1 fafire A @ &
A) 1-8x1071%C/kg B) 167x107°C/kg
€ 1-8x10''C/kg (D) 667 x10'1'C/ke

The specific charge of electron is

(A) 1-8 x 1071°C/kg \}/1-67 X IO_IQC/kg

C) 1-8x10'C/kg (D) 667 x10''C/kg

[117 ] A 88-013 _ Page 7 of 32
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15, frlt S g & e w T geet B wdel B

AR N T NE%HEI

(A) N,>N, (B) N, >N,
€  N=N, (D) Nl:'-lﬁ
. N’Z

In step-up transformer, the number of turns in primary andg
secondary coils are N, and N, respectively then
(A) N, >N, : (B) N,>N,
(C) N, =N, D N. = —
1 2 ' (D) 1 N2
16. =g 7 Rem s o7 smaw @ Freeriaret wyqol R worea o1 A9 €

A) e B ()"
(C) (4mey)! (D)  4ne,
The total electric flux coming out from stationary unit positive charge
in air is ] C
n ar is
(A) €9 ' M € ) !
( [ ] . '
(C)  (4mey)! (D) 4ne,

17 64 TET §F R Sdm R 5 uF ¥, Brem o e 4w E
R W uRa A o |

(A) 25 puF (B) 4 uF
(C) 164 pF (D) 20uF
[117]A - 88-013
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A

gren-
'y

¥ S
= TS

18.

- 19.

64 identical drops cach of capacity 5 uF. combine to form a big drop.

What is the capacity of the big drop ?

() 164 uF . (D)  20pF

WﬁpFﬁrﬁm%ﬁ?ﬁqwﬁiW%imquﬂmam
sy wiftar gt @

(A) 3 uF, 12 pF (B) 2 uF. 12 uF

(C) 2 uF, 18 pF (D) 6 uF, 18 uF

Three capacitors of capacitance 6 pF each are available. The

maximum and minimum capacities which may be obtained by them

are
(A) 3 pF, 12 puF (B 2 QF. 12 pF
(C) 2uF, 18 yF (D) 6 uF, 18 yF
g & @ S-9 frwol g 89 & gr faefra @ et € 2
(A) 31w Tt B)  der feol

C(c) T Rt (D) o feol

Which of the following rays is not deflected by magnetic field ?
(A) Al‘pha rays (B) Beta rays

(C) Gamma rays (D) Positive rays

[117 ] A [88-013 | Page 9 of 32
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20.

dia feell F Ul T &

(A) 90° (B) 1
(D) 180°

(C) ©

The power factor of choke coil is

(A) 90° B 1
uf o (D) 180°
21. SmA-uEe fran o nftda g1 8
- = ' - &'E -
= Hg _dixr L Aixr
()  dB=721—3 B) dB=py, —
- - c—ir -
-5 —i
Ho Id!);r D) dB=p, Ixr

The mathematical fonnuia of Biot-Savart law is
. - =

> dixr o dl
Ho xr xr
A dB= I B) dB=
- = | - a —»
(D) dB=p, ——

22, Fper e
()  FgERE B) SR
T |/ FE T

' (D)

88-013
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Nickel is

(Al Paramagnetic \JB/ Diamagnetic

(C) Ferromagnetic (D) None of thesce

23. @Mﬂﬁﬁ'ﬂ%ﬂﬁiﬁﬁﬂ?ﬁmﬁwromﬁ?ﬂﬁ'ﬂ#qﬁr?jiﬁr.
HITE 1-5 ¥ 1 o Y Preew g0 @

(A) 20 m B) -Lm
20

(C) 20cm o Lem
20

The radius of curvature of each surface of a biconvex lens is 20 cm

and the refractive index of the material of lens is 1-5. The focal length

of lens is
1
A 20 m B —
(A) ( }_ 20m_
(C) 20cm (D) 516 cm |
24, mma%qmﬁmm‘h(maﬁ#a:=%)@m:ﬁ(mﬁﬁ:rﬁﬁ= %)ff
a1 Lt &1 Hhifdeh IV &1 A B
(A)  sin™! [%] B) sin”'(/8/9)
(C) sin”! [-S-J _ (D) sin”! (%]
A ray of light travels from glass ( refractive index = 3 ) into water
(refractive index = % ). The value of critical angle will be
(A) sin_!(%J , B sin'({879)
(€  sin™ [—8—) (D)  sin’ [-‘5)
o 9 7

[[117]A [88-013 Page 11 of 32
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25. YO AAEON & fou fgad fag W wadEe & el % dn

FHeATa &dr
A) I | 3
© = o =

For constructive interference, the phase difference between t*u'urt:)'l‘&'l.')"S

reaching at a point is

(A)  zero ' (B) E
| . 2
© = o 3
. * 4
(26, UH QTR & ol qur B 5 JHE BRI
(4) =T - | S
(C) Fam ' (D)  HIoNg Wt

For same wavelength of electron and photori which will be the same ?

(A) Velocity (B) Energy

( Momentum (D) - Angular momentum

27. sza@mﬁ%ﬁ%ﬁwﬁsﬁ?{Haﬁm
AT gl ®

A} z%% B z%
© z'% D) z2%%
" _
[ 117 ] A 88-013 Page 12 of 32
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For any atom of atomic number Z, the ‘energy of el

orbit is proportional to

A z2
oz
28. pmﬁa@fﬁﬁmmﬁﬁﬁ%mﬁmmm?
() SH
) IH

The impurity element used for p-type semiconductors is

Cy Boron

Arsenic .

(B)

(D)

(B)

(D}

Z

VA

-2

foamy
Earsares|

Bismuth

ﬂ Phosphorus

29. ﬁ%ﬁﬁ%ﬂﬁAﬁﬂTE%é\ﬂWHﬁﬂTﬁTﬁ

(A)

(<€)

3UF
— | 4UF
Ae——o -—-”'——.B
1
15
2 UF
9 uF (B) 1 uF
20 B 1
D — uF
guF by g

ectron in any given

The equivalent capacity between A and B in the figure given below

will be
3HUF
|| 4 UF

Ao . | ||—eB

2HF

(A)  9uF (B) 1uF

(©) %P—F D) = yF

[117] A 88-013 Page 13 of 32
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30, Hred g gfw & S ugw gl &

(A)  HZEIH & feu
B) feuigaivrm & fem
© TeFw & o

(D) WHigeiyH ud fesirgeiom g1 & feu
Modem is a device used for

(A) modulation

(B) demodulation

(C) | rectiﬁcation

(D)  both modulation and demodt.lation

31, + 10 uC T - 10 pC & 3 fag AW Y ¥ WER 40 om F T ®
@%lﬁmﬁﬂmﬁmmwﬁﬁ?

(A) 2253 B) 2-353A
(€) -2-253¢ (D) -2-35%A

Two point charges of + 10 uC and - 10 uC are placed at a distance
of 40 cm in air. What will be the electric potential energy of the

system ?
(A) 2-25 joule (B) 2-35 joule
(C) -2:25joule ' (D) -2-35joule
32. oA feye #t Feitr fafa of forpe favie @ @
1 pcosO 1 p
A B =
A dne, 2 (B) 4ne, r2
1 p
C £
© 4n € T ) ?1?*‘1
[ 117 ] A 88'-01:_3__—1 Page 14 of 32
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The electric potential in cquatori

al position of an clectric dipole is

A 1 pcosi

N mg T B L2
dncy r

C L_»p

() 411750 r (D) Zero

33. 60 W T 40 W & T oo Afg oftenwy § AR it ot e alinfor v

gt
(A} 100w (B} 2400 W
24 W

€ 30w | (D)

When two bulbs of power 60 W and 40 W are connected in series,

. | .
then the power of their Icowc
{A) 100W ‘ (B) 2400 W
© 30w . Mw
34. Wi wiqamd gtar &
A) X, =2nfL | (B) X; =2¢f2L
€ X, =2nfL? (D) X, =2rf2L?
Inductive reactance is
(A) - X, =2nfL B) X, =2rf°L
€ X, =2nf’ D) X, =2rf?L?
[117 ] A 88-013 Page 15 of 32
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35. wmﬁnawm%ﬂﬁzﬁélﬁsﬁ?{ﬂaﬂmm?
16 x 10717 C &, @ 9fd Adwz ar o waitea el @ @@ ¥ |

(A) 0625 x 10'3 B) 625x10'®
(C) 1-6 x 10_19 (D) 16 x 1019

The current following in a wire is 1A. If the charge of an elcctron i |

1'6 x 10~ C then the number of electrons ﬂowmg through the wire :.
per second is ’ ;'

(A} 0-625x 10'3 (B} 625x 10'®
) 1:6x10719 D) 16x10'°
36. Wawsﬂ%ﬁ(m;wmmﬁwwmww

IO (T ) T B 2

- 2 o ' . - = 5
(A) . I'l:*:m.xB : (B) T=Bxm
; = ; - - =
© == M) t=m-B

e ,

o
| The torque (1) €xperienced by a current loop of magnetic moment

—’
(m) placed in magnetic field B is

—
T

(A  t=mxB B <-Bxm
€ == D) t1-=m.B
B
37. IR WY W wgha
() fer B Y
€ ¥d D) a8 W ffk

[ 1171A 88-013 |
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The susceptibility of paramagnetic substance
(A) is constant (B) is zero

(C)  is infinity (D}  depends on magnetic field

38. TEAH & w1 fagia amia & -
A) YR & FHG 9" W) B) faea-grEwa 3T 1
© Aa gEwE w . (D) 3RE feRE W
The working of dynamo is based on the principle of
(A) heating effect of current
(B) elec&o-magnetic -induction
(C) induced magnetism

(D) induced electricity

39. L-RURGY 1 vifts Turien & €

(A) R+wL -~ (B) —
' JR2 +w?1?
2 2 ;2 wlL
) L . D —
€L RyR?+w O =
The power factor of L-R circuit is o
R
A R+wL (
A N Q})/ J R?+w?1?
(©) RyRZ+w?I? D) “’Tf'

40, SeqEdt urg oy & off 9 1 v Seds v & o et ¢ &) d 4
T AIE gZH

(A)  Icos¢ ' (B) Itang

(C) Ising (D] I cos? ¢
[ 117 ]A 88-013 Page 17 of 32
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In an alternating current circuit, the phase difference betwe,,
current [ and voltage V is ¢, then the wattless component of curren,

will be
(A)  Icos¢ (B) [tan¢

‘9/ Isin¢g . (D} Icos?¢
41, gl & TR 85 B, ¥ afy fedt g g8 @ emafd @), at

(A) n«xB, B n?«<By
(€}  n=By? D e
_ B,

In earth’s magnetic field B,,, if the frequency of any magnetic needle

is n, then |

({‘) neB,, - ‘V n’«<B,,

(C) nncBH2 (D) n2 et
BH

42. Y & EHY Yo W T IO H AH @O §
A) 0 (B) 45°
() 90 | (D) 180°

The value of angle of dip at the earth's magnetic pole is

4 0 (B) 45°
Jm/gm (D)  180°
[117]A 88-013 . Page 18 of 32
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43. UP 3T G (n=15) F U (0= 1.33) F gawn A6 E, a0

AR AT &
(A) I &9 H WE (B) A ¢ &) A&
€ B wt e (D)  37adet YT I e

A convex lens ( n = 1-5 ) is immersed in water (n =

behave as a

(A)

(C)

convex lens (B) concave lens

prism (D) - concave mirror

aa. Pt 3 Rrae sradais wod o g & 2

(A)

(C)

i (B) G
SIE (D) B

1-33 ). It will

Which one of the following has maximum refractive index ?

E (A)  Glass (B)  Water
: (C) Iron ' ;PJ/Diamond
fa5. 3fa ¥ fPE QW W W B P BT TWER W F OFEER A
ST & ?
(a) e gfee 3 B) L g W
() I (D) ST g
Cylindrical lenses are used to correct the éye defect cillecl
(A) Myo—py ! - Mypermetmpia
(C)  Astigmatism (D)  Presbyopia
[117] A 88-013 Page 19 of 32
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46, q¥g ehT9l & 7 1 Il %
o e aoRed ) TR

(C) THH! Hedl (D) 5'“ I

The colour of visible light is due to its

_\>[,ﬂ<q/ wavelength (B)  velocity ;

(C) phase . (D) amplitude
47. Tl gaa O @ fitfid gt W Ty @ €
()  TIRTER (B) SEHMER |

(C) TS (D) g

The wavefront due to a point source at a finite distance from the

source is i
(A} ‘spherical ()  cylindrical |
(C) plane | (D)  circular . !
48. |F & VT 1 WeLH B ¥ |
(A) W WA B) Has Www

(C) IER 1@ %1 WA (D) Il UF & EwgH

The solar spectrum is /

(A) cantinuous spectrum (B) linear spectrum

(C}  spectrum of black liﬁes (D)

Spectrum of black band
= Dand

L

88-013 Page 20 of 32
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| 3% So ST

49,

forem w1 fored) et Ofdea vt &) wofer s wrifas wieaor @ sl
& S @, 3 wga ¥

(A) 3NV Y | (B)  3T&-3TY
© 3T D) & P

The time during which radioactive substance becomes half of its

initial amount is called

(A)  Average life - (B)  Half-life

(C) Time-ﬁeriud . (D) Decay-conétant

0 T ararer B R

(A) T E @ wemd

() emaitafad @A (D) TYHAEATE

With the increase of témpcrature the s;pecific resistance of semi-
conductor | - |

{ﬁ'k} increases \9)/ decreases

(C) remains constant (D) becomes zero

gt % fpdll WM W TEF TV 9§01 TR BN OFEE 245 m ) FeH

51.
e g0 7 W 2ER H THROT G ?
A) 245m " (B) 245km
(C) 56 km . (D) 112km

[117]A | 88-013 Page 21 of 32
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The height of a TV transmission tower at a certain place on the carth

. - w [l . . -.‘ ‘i .
is 245 m. The maximum distance up to which its transmission ¢y,
be received is

(A)  245m (B) 245 km
{C]/ 56 km (D) 112 km
52.  fodt @t W arafug o ERG w0 & A9 fad g F T ¥ s
T gl I W e g @ E @
(A) 4F (B) 2F
1 1
C ~F D —F
(C) 3 (D) >
Electric force between two charged particles situated at any distance
is F newton. If the distance between two becomes half, then the value
of electric force will be
(A)  4F (B) 2F
© Ll ® 1
. 4 2
53. o3 ¥ uRy 1% ° by
8 A
20 A .
4 A 16 A I
8 A
(A) 8 A (B) 10 A
(C) 12A (D) 14 A
- The value of current J in the figure is
8 A
20 A
4A 16 A I
8 A
(A)  8A (B) 10a
(C) 12 A (D) 14 A

[117] A
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54, T (25 W, 200 v ) A1 100 W, 220 v ) fear mar &1 =711 @ faraen
sfey wmy /e
(A) 25w (B) 100w

© S ® R g D) T | R

Two bulbs (25 W, 220 V ) and ( 100 W, 220 v ) are given. Which has
higher ?esistance ?
A) 25w
(B). 100w
(C) Both have equal resistance
(D) None of thesc

55. ¥ 1 foe a6 W o
(A)  SeEHRT TRT | B) Ao g
(C) = 3THI g| (D) fosrmmdt gry
The e.m.f. of a cell is measured by
{A) a voltimeter (B) a galvanometer
(C_] an ammeter (D)  a potentiometer

56. I T WAYdiF giam &
A 0 . B
) 1 . L)y -1

[117]A 88-013 | Page 23 of 32

https://www.bihartopper.com



The dielectric constant of metal is

(A) O (B) e
€ 1 (D) -1
57. Zitaw FH1 Dl R ot § Seeraret 97 B Hed §
(A) R reet | SE
(€ ZEEeR (D) AR
Instrument which converts mechanical energy into electrical energy
is called |
(A) Indt;cﬁon coil (B) Dynamo
(C) 'I‘ra.ﬁsformer (D) Motor

58. 9 &H frlt s w3 §, @ W W s aren i e d
(A) Tl T (B WQHEFET
(C) rediw Td W (D) wIaE T IeeT

When we see an object the image of the object formed on the retina is

. (A) real and erect . (B) real and inverted -

(C)  virtual and erect (D)

59_.' fermelt safaertor & geiax g @

virtual and inverted

(A) (n+1)A (B)

(2n+1)A
A . (n+1) .
€ (neyk D)
[117]A 88-013
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The path-difference in destructive interference is equal to
(A) (n+1)x (13) (2n 4 1)
C)  (2n+1)2
( 1) (D) e
2 }
00, FERIATIGE (ev ) e 3

(A)  HRT (B) Tyl

(C) favaim (D) F

Electron—vol; ( €V ) measures

(A)  current (B)  charge

(C)  potential difference (D)  energy
61.  EITGOM WagH W FH-w S0 gvg W o wedt ¥ 2

(A) ST T (B)  #He Sofr

(C)  ©ZHA Yot | (D)  UIvE Son

Which spectral line of hydrogen spectrum lies in visible region ?

(A)  Balmer series (B)  Brackett series

(C)  Lyman series (D)  Paschen series
62. [T=fclEa o feraes! dua-amar geaw et & 2

(A)  UEFE i (B)  huig ferol

(C) 37T fepvor : (D) T oot

1117 ] A | 88-013 | Page 25 of 32
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Which of the following has maximum pct

(A)

(€

jetrating power ?

X-rays (B) Cathode rays

o -rays (D)  7-rays

63. Eﬂ-ﬁfﬂﬁwﬁa&ﬁ&w@ﬁrswz%ﬁﬁhmﬁﬁ

(A)

(C)

In full wave rectification, if input frequ

50 Hz (B) 100 Hz

25Hz - (D) 200 Hz

ency is 50 Hz, then output

frequency is
(A) SOHz (B) 100 Hz
(C) 25Hz (D) 200 Hz

oo Frfofia i S i & ¥ i @ e E 2

(A)

(C)

W B TBH
IR 0T D) TR

Which of the following is not accelerated by electric field ?

(A) Proton (B) Neutron
(C) a -particle | (D)  Electron
65. q-om & feIT agfer < # =T
(A) 100 MHz q s (B) ~ O0MHz § FH
(©) 105 MHz @ (D) 1500 kHz ¥ ¥4
(117 ] A (88013 Page 26 of 3
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Frequencey range for ground waves should be

(A) more than 100 MHz (B) less than O MH?z

(C) more than 10° MHz (D) less than 1500 kHz

2fiTeh GEASI Y TEA Y oTaTs FeH W S &THAT

60.
(A) SR () e
(©) el SKorelt @ © A 2 S ®
On increasir;g the- length of the tube of compound microscope,
magnifying power
(A) incfease's (B) decreases
(C) does not change (D) become_s zero
67. THIh i SAITHAR ciaTs {Lg)ﬂﬂrﬂmaﬁ'qc—-iaﬁ (L, )™ Gy giaT &
A L,=2L, B L =%Lg -
(C) L,=1, (D) L,=2L,
The relation between geometrical length {Lg) and magnetic
length (L, ) of a magnet is
@ Ly=2L, | L,=2L,
(C) L = Lg . (D) L, -—-21.:‘3r
[117]A 88-013 Page 27 of 32
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68. A whpaar & mam ¢
(A} MeV (B) wm.u
© wg o T
The unit of radioactivity is
(A)  MeV (B) am.u
(C)  curie | (D)  joule
69.  TIHIOT H TN AT &
(A) é@aa 4 B)
© md (D) <HATH
Attenuation is measured in

(A) decibel (B)

symon
(C) ohm (D)  tesla
70. Y[ Hfedd W Gl HaER Il €
| (A) ﬂ%‘ﬂm S (B) HIATH AW
© T S\ D) T Y FE

At 0 kelvin, the semiconductor behaves like

(A) - a semiconductor ' (B)  agood conductor
(C) a bad conductor (D) none of these
[117 ] A 88-013 ] Page 28 of 32
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@[ug - & / SECTION - B

&g IAAT WY / Short Answer Type Questions

UvT G5 1 ® 20 g gag & 1 T 10 wvAt & gav § 1 w/E @ fe

2 3% fuifa & 10 x2=20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Luch
question carries 2 marks : 10 x2=20
1 R fagd ofweor e 2 ) e
What is electrostatic shielding ?
2. O B Witves w2 wE S AEs e 1+1
w o
What is resistivity of conductor ? Write down its SI unit.
S/ U IE § g = wwew ¥ 2 2
- What do you mean by power factor ? _
4.7 il VT T Ui & g Gay ford 2

~5/

y

%

Write down the relationship between critical angle and refractive

index.
i 9qre % 3t il # e ‘ 1+1

Write two properties of diamagnetic substance.

o7 fA&I99T &TaT § 9 R g & 2 2
What do you mean by dispersive power ? '
B9 & FlAHT0T &t HEYEF IS =& 2 - ' 2

What are the necessary conditions for interference of light ?

f/mw%?wwmnw: 1+ 1

What is polaroid ? Write its-one application.
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13.

14,

16.

17.

18.

[ at @

What are microwaves ?

WA & AR e ) A ford

Write Plvmi.ng':-: left hand rule.

fod prawia qd @ ¥ o

What is electromagnetic wave ?

SIS o |1 & )

What is Lorentz force ?

YT YRT qiay & wigemn oo wiqaE w1 1+ 1
What are impedance and reactance in alternating current circuit ?
s o fidiae dgve § afr we ¢y 2
Differentiate betu;reen primary and secondary rainbows. | |

Wﬁﬁﬁﬁamwm-ﬁwﬁﬁs-zxm* ol o &1 ITH -

3 4T B 2 2

The decay constant of a radioactive substance is 52 x 10> per ycear.
Determine its half-life. https://www.bihartopper.com

o1 SAcifeh W Ht w6t 1 § 2 Tl T SEATH STE w1+ )

|
What are the conditions for total internal reflection ? Write any one of

its practical applications.

To g0 1 & 7 | | 2
What are eddy currents ?

A fata @ faedt Tmom 3 ot siiefen R 3 FTT St T 300 &
d1 29 "regg o YT 1 O 991 g 7 >

If the critical angle of total internal reflection from vacuum to any
medium is 30°, what will be the value of speed of light in thej

medium ?

J—
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1o, @ WA w1 @i w20 v Eers @ sa @ MR el @2

A% < SR 99 10 o Ud 8 q &, at dr ahd @ EE e H

2
The current flowing through the parallel combination of three
resistances connected to 20 V supply is 5A. If the resistance of two

are 10 Q and 8 Q, then find the value of third redistance.

20. SN Wt VR R § T R G § )

What do you mean by Bohr's stable orbit ?

e IR e / Long Answer Type _Questiﬁns

w7 WEAT 21 7 26 i g wew & 1 Pt 3 vt & g & 1w

ferg 5 o fraiRa & : - 3x5=15
Question Nos. 21 to 26 are Long Answer Type Questions. Answer any
3 questions. Each question carries 5 marks : Ix5=15
21, T W T ford e wewfyd w1 - 243

‘ State and prove Gauss's the_drem.
22, aot-fagor et foraer 7@ & 2 @ vt Bl TR o B v
S U B 2+I3

What is deviation without dispersion ? Obtain the conditions of

deviation without dispersion by two thin prisms.
\2‘/3./ forem et SRoT @ gty U & Fraw @t e w0 5

Explain Faraday's law of electromagnetic induction.
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25.

26.

p=-
A
ln
S (2]

Ush firoe F(T‘TQ W fiﬁ 3Wﬁ'f?lf$ 1L fff’{l AT &

. [A+dm
sml

) WW%W a7 ¥

N

Show for a prism that the refractive index y is given by

. [A+'6m :
sin

n= Y where symbols have their usual meaning.
sin( J -

Wﬁf@%ﬁ%ﬁww%wmm%mmm

a‘ﬁl 5

Find out the expression for magnetic field due to a bar magnet in
broad side-on position.

éﬁr%ﬁmﬁfwﬁlﬁ@q%éﬁrmmm‘rmmﬁq@a#

e yfewer & | 243

State Lenz's law. Show that Lenz s law is a direct consequence of law
of conservation of energy.
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